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such that Spf — spf < €. Prove that f is integrable on B. (You

is a bounded function on a box B C R™. Suppose that for every € > 0
may assume that iBf < (i)
/

there is a partition P of B

1. (10 points) Suppose f
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HeTi—01
otherwise
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0
of [0,1] x [0,2] such that [0,1] and 0, 2] are both d

. Compute Spf and spf.
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Midterm 1 - Page 3 of 8
f(z,y)

to N equal sized subintervals

n

(a) (10 points) Let P be a partit

2. Consider function

Math 32BH
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4. (a) (10 points) Compute

Math 32BH
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Math 32BH

5. (10 points) Let ®(u,v) = (u2 — v?, 2uv). Compute
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